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Rational and Irrational Numbers—
Skills Practice

@m,m practice

@ vaai=_ 20

Evaluate square roots and cube roots. Simplify each expression.

[ QU

@n-_ o
@ iz-_ 12
@ vio-_ 10
@Vis-_ 5
@ Voo =_ 30
@ /700010

B Vie=_13

@vi-_7

FormA

V2,500 = 50

@ vi-_ 6

@Vvs-_ 5

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Rational and Irrational Numbers—

Skills Practice

Evaluate square roots and cube roots. Simplify each expression.

0o

@vas-_ 15

®Vvei-_ 8

@ vizi-_
B v5-_ 5
@ vao-_ 20
@ visoo= 40

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

FormB

@ Vioo=__ 10

@vi-_2

Biz6-_ ¢

Ve = 25

@ Voer = 31
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Rational and Irrational Numbers—
Skills Practice

B c=1x=_1-1

X =100;x=_10,—10

@ =gx= 2

M ¢ =64x= 4

B ¢=125x= 5

@m,m practice

X2 =2,500;x = _50,—50

Solve equations of the form x> = p and x* = p.

X =49;x =

ax2=1%—10;x:

mx2:900;x:
B e=5x=

1.,
x3—f,x—

FormA
7,-7 B c-8x-= 2
2 _2
373 a X =144;x=_12,—-12
9 _9
IECARTI © R TR N
30, —30 oo 1o L1
AL X*@X* 7 7
6 _6 3 _3
777 XZ:%;X= 5 5
1
3 mxzzgé;xz 6, —6

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Rational and Irrational Numbers—

Skills Practice

Solve equations of the form x2 = p and x* = p.

x=125x=_11,-1

B =25x=_5-5

B <c=9x=_3-3

1 _n
e=2y- n

144

X =441 x = 21,-21

B ¢ =216x= 6

X =1,000,x=___10

_27. 3
B =% 4

m X2 = 1,600; x = 40, —40

X =625x=_25—25

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.
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e

(125

15 e

FormB
%;x: %—;
x=_ 1
ox=_ 0
s, 4

225, x=_15,-15
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Rational and Irrational Numbers—

Skills Practice

Approximate irrational numbers. Form A

Write the two consecutive whole numbers that the given number is between.

@ 5 2and3 B Vio_ 3and4 (3 8 2and3
@ V28 5and6 B 23 4and5 B Vss_ 92andi0

[ 7 N 6and 7 B Vs 5and 6 [ o R 8and 9

Approximate to the nearest whole number.

®\V5~_ 2 @ vio-_ 3 ®ve-_ 3
®vs~_5 @Vvsa-_ 5 @ vei-_ °
@V~ 7 @VH~_ 5 @ Vvio~_ 8

Approximate to the nearest tenth.

@ Vs~ 22 W Vvio~_ 32 @ Vs~ 28
B VvE~_ 53 B VS~ 48 @ \Vei~_ 92

Approximate to the nearest hundredth.

B s~ 224 @ Vio~_ 316 @ s~ 28

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

mnmq practice

Rational and Irrational Numb
Skills Practice

Approxi irrati S. FormB

Write the two consecutive whole numbers that the given number is between.

@ 2 ‘1and2 B 3 _ 1and2 B 7 _ 2and3
@ Viz__3and4 B V55 7and8 B V39 _ 6and7

@ Vo9 9and10 B V3o _ 6and7 B V24 4ands

Approximate to the nearest whole number.

V2 =~ 1 @ 3= 2 V7 = 3

V14 = 4 /55 ~ 7 V39 ~ 6
Vg~ 10 V39 ~ 6 V24 ~ 5
Approximate to the nearest tenth.

B Vv2=_14 |Vvi=~_17 @ Vv7i~_ 26
Vig~ 37 \VEs~ 74 V3ig~ 6.2
Approximate to the nearest hundredth.

BVva~_14 B Vi~_173 B V7 ~_265

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.
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Rational and Irrational Numbers—

Skills Practice

Approximate expressions with irrati s.

o
3
QU
[a}
=3
[a)
(1]
Q
=3
a
o
=3
o
o
)
3
w
o
s,
=3
Q

Give the two consecutive whole numbers that the given expression

is between.
nz\/§ 3and4 21—, 6and7 \/g+2
a%ﬂ 4and5 B +/5_ 8and9 B Vi -2

Approximate the value of the expression to the nearest whole number.

82
@ \5\Vv2~_ 4 g--_10 g\/:z
@3~ ° @ v2r=_ 3 B 3va~
Approximate the value of the expression to the nearest tenth.
M V3 -V2~ 03 m V2. 07 m
@vi-va-_03 @Z- 07 B

(2]
NS
1

-
o
<]
S
U
S

73742 Fl..my Practice

FormA

7and 8

4and>5

2

15

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Rational and Irrational Numbers—
Skills Practice

Approximate expressions with irrational numbers. Form B

Give the two consecutive whole numbers that the given expression
is between.
2v2 2and3

4,n. 12and 13 \/35 —> 3and4

2 2and3 11and 12 8and9
@5+ 2and3 B4+ B Vi +2

Approximate the value of the expression to the nearest whole number.

Vi+va~ 3 8--_31 (9] @z 3
@3~ ' @ 3= 5 Bsvw~_ 20
Approximate the value of the expression to the nearest tenth.
V3~ 05 V3. 09 m 1 07
@Vvs-Vvi=_ 05 @P2-_09 B .- 07
~ 157 2 . 1.2 6o~ 29
@ 5 . i . 6—m

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Fluency Practice. 3 43

L
c
o
3
(s}
<
-
b
Y
N
.
(o]
)




*GZ0Z/0£/9 uo saJidxa 20Jnosal siy] "umoig 'y Aq papeojumoq

©
(@)
=1
=
=.
=}
=1
=
=1
]
b
o
73
o
s}
c.
IS}
-
o
>
—
[y
@)
Q)
o
=]
]
.
=3
oQ
=
=3
=}
-
=
s}
=
2
=
)
A

)
=S
j7]
[a]
=3
[a)
o
Q
>
a
o
=
o
=X
o
S
w
o
=
5

Q@

adndeid Aousn|4

LEL

Rational and Irrational Numbers—

Skills Practice

Rewrite a repeating decimal as a fraction.

2 6
Bos-_3%°

@ os3-6"9%

061 =_1 90

@o3=_11"9

0.415: 12 900

3 ﬂ 4 Jrocncyprcce

0.63 =

B 006 =

0.86 =

-
w

|=

0.7 =

FormA

or5s Boz= 5
159756 @ o27- 1% 5%
50 @ oss- 1% 5%
3 o o3
2 @osa= 11795
ﬁ o‘osizﬁ
5 @ oso- 1%

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

nal and Irrational Numbers—
Skills Practice

Rewrite a repeating decimal as a fraction.

15,3
@o:- 30

1
_ ZOr o~
Bois= 6% %0

072=_18°"90

I~
°
S

3

a8
o
&|
I
-
=
8

B o583 =_12 " 900

a
o

|

3l

I
={e
8le

0.81 =

073 =

B o6 =

0.05 =

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

FormB
%org% 8 os- g
%or% B o3s= 1l8°r%
%or% B os53= %m%
s ® 035 = 7175
%or% B o916 = %or%
: Do S
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Rational and Irrational Numbers—
Repeated Reasoning

Find patterns in repeating decimals. Rewrite each decimal as a fraction.

SetA

_ 3 orl _ 3 1
Bo3-_9°: B 003=_9030

_ 4 2
B oos=_90%a5

(-]
<}
S
I
olb

oln

5
Boos5-_ 9018

SetB
- 3ol — Zoal
Bo3=-_9"3 Boo3=_9 "33
4 4
BQos-= 9 B 0.04 = 99
5

(]
o
w»

I
wlwn

Describe a pattern you see in one of the sets of problems above.

_ 3 1
B 0.003 = _900 ™ 300

4 1
@ 0.007 = _900°"235

5 1
@ 0.005 = _900 °r 780

3 1
0.003 = 999 °'333

5
B 0005 =_ 999

Answers will vary. Sample answer: In Set A, as the digit that repeats moves one decimal place

to the right, the fraction is 11—0 of the fraction in the previous problem.

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Integer Exponents—Skills Practice

Simplify expressions with exp

Rewrite each expression using a single nonnegative exponent.

@yy-_" my=_ m?

8ewr=_n"

Evaluate each expression.

p.g = 64 B 2z:.=_ 1000

m (52 =_15,625 m 6272 = 1,764
@s.3=_ 243 g_iz 64

.
17 4

@B 2¢-3¢=__ 1,29 5

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

néen®=

5]
wlw
Il

a8
RN
Il

5

= 4,09

FormA

n"

o=
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Integer Exponents—Skills Practice

Simplify expressions with

@yy-_r

Evaluate each expression.

@s-5=

15,625

M er=__8

2.2=__ 64
B #+.2=_ 512

mg.wy practice

Rewrite each expression using a single nonnegative exponent.

my=__m"

(ny=__n*

B226= 12

@ #.2=__ 64
‘T‘f: 125

al=

Form B

ndens = n"

BY-_ w

a (2= 1,024

5
B2- 4

43

ppp—1

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Integer Exponents—Skills Practice

Simplify more expressions with

P

Rewrite each expression using a single exponent.

- 1
yor 5

yReyT=1 0

Evaluate each expression.

1
274.22= 64

1
30,34 = 81

M5 52=__ -5

(m2p =

27 (7=

wy
Il

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

m“or#

8o

al

FormA

o
V:{s = w"

Bey):= 512
—6) _

E—sgz J——

64

a
s
Il
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Integer Exponents—Skills Practice Integer Exponents—Repeated Reasoning

Simplify more expressions with Form B Find patterns in products of powers with the same base.

(o]
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Rewrit h . . inal t. . . .
ewrite each expression using a single exponen Expand each factor. Write the product in expanded form. Then write the

y~oor ;9 m-or_ 1. product using an exponent. The first one is done for you.

@y mop="_"m* nrems= W

B 2 x22=02X2X2)XQ2X2)=2X2X2X2X2=25

B 33x32= (3X3x3)X(3x3)=3x3x3x3x3=3°

m?_ m-sorl B (h2)2= n' W _ 12
Q=" Qery=_n w7 T wr B sxp=BX4X)XBXA=4x4X4Xx4X4=4

Evaluate each expression. O 5 x5=(5X5X5X(5Xx5)=5X5X5Xx5x5= 5°

1
273,272: 32 B(—G))"(—G)’!: -6 9(476)0: 1 63><62:(6X6X6)X(6X6)=6X6X6X6X6=65

a73><72= (TXTXN)X(TXTN=TXTXTXTIXT=7°

B s xs= (8BX8x8)x(8x8B)=8x8X8x8x8=8°

Bey-__ 8 @3cy=_ 1 B s
Ooxo- 9XIXNX(OX9)=9x9IXIx9x9=9"

an3><n2= (hXxnXxn)X(nXxn=nXnXnXnXn=n°

1

— - 9 -2
PR 40.43 = 64 872 _ P 15 -
® e @ - 64 B = 27 @ 22 x 422 = (42%42x42) X (42X 42) =42 X 4.2 X 4.2 X 4.2 X 42 = 4.2°
Describe a pattern or relationship you see between the problems and the answers. Explain what the
pattern means or why it happens.
- —6)° _ —6)° _ N
0°.20=_ 0 ((3)3) = -8 ® E_Sgo = 1 Answers will vary. Sample answer: When the factors have the same base, the exponent of the

product is equal to the sum of the exponents of the factors. Three factors of n multiplied by

two factors of n is a total of five factors of n.

@nuenzy Practice ©Curriculum Associates, LLC ~ Copying is permitted for classroom use. ©Curriculum Associates, LLC ~ Copying is permitted for classroom use. Fluency Practice @
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Integer Exponents—Repeated Reasoning

Find more patterns in products of powers with the same base.
Write each expression as a power of a single number.
SetA
Fx3y=_ % 32x31=_ 37
pxp=_ 3 32x32=_3°*
Fx3p=_ 3 B@32x3:=_3"
Bx3=_ 3 B@3:x3=_3"
B axy=-_% @s32x3°=_37
32 36 = 38 32x36=_3°
SetB
@3ix3y=_3%" B:3:xx=_"% B::xy=_7%
@»x3z=_7% #x32=_ 3 @3x3=_3"
Describe a pattern you see in one of the sets of problems above.
A s will vary. Stud may notice in Set A that as the exponent of one factor increases
by 1 the exponent of the answer increases by 1.

Integer Exponents—Repeated Reasoning

Find patterns in quotients of powers with the same base.

Expand each term in the quotient of powers. Write the quotient in expanded
form. Then write the quotient using an exponent. The first one has been done
for you.

22+ 22=(2020202:2)+(2:2:2)=2:2=2?

33— (3:3:3:3:3)+(3-3.3)=3.3=32

Fogp= (4:4:4:4.4)+(4:4-4)=4.4=4

@ 5-5=(5:5:5:5:5)+(5:5:5=5.5=5

6526 = (6:6:6:6:6)+(6:6:6)=6:6=6

@7-7=1:7:7:7:7+(7:7:7)=7-7=7

g5~ g= (8:8:8:8:8)+(8:8:8)=8-8=8

Bo-0=(9-9:9.9.9)+(9.9.9)=9.9=9*

a == (Nnenenenen) - (nenen)=nen=n?

635+ 63° = (6.3°6.3:6.3:6.3:6.3) + (6.3:6.3:6.3) =6.3:6.3 = 6.3

Describe a pattern or relationship you see between the problems and the answers. Explain what the
pattern means or why it happens.

Answers will vary. Sample answer: Students may see that when the dividend and divisor have

the same base, the exponent of the quotient is equal to the difference of the exponents of the

@m,m pracice ©Curiculum Asocies, L Copyng i permiedforcassoom s

dividend and divisor. Five factors of n divided by three factors of n is a total of two factors of n.

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.
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Integer Exponents—Repeated Reasoning

Find more patterns in quotients of powers with the same base.

Expand each term in the quotient of powers. Write the quotient in expanded
form. Then write the quotient using an exponent. The first one has been done
for you.

B 2>2=02x2x2%x2)+@Q=2X2x2=2

By+-2=-2%x2x2x2)+@2x2)=2x2=2

24+23= 2x2x2x2)+(2x2x%x2)=2=2"

@ 22— 2X2X2x2)+@x2x2%x2)=1=2

B-2>=-2%X2x2x2)+(2x2x2x2x2)=1+2=2"

aza+25= (2X2X2X2)+(2X2X2X2X2X2)=1+(2%x2)=27?

(2X2X2X2)+(2X2X2X2X2X2X2)=1+(2X2x2) =273

@2x>2=

@434 (43X43x43x43x4.3)+(43%4.3)=43x43x43=453

Describe a pattern or relationship you see between the problems and the answers. Explain what the
pattern means or why it happens.

A s will vary. Stud may notice that if the exponent in the divisor increases by 1, the

exponent in the quotient decreases by 1. That happens because you are dividing by one more

factor, so the result has one fewer factor.

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

@m,m practice

Integer Exponents—Repeated Reasoning

Find patterns in products of powers with different bases.
Expand each factor. Rewrite the expanded form as a power of a product. Then simplify.
The first one has been done for you.

SetA

VXA =2X2IXAXE=2X 47 =8

23><43: 2X2X2X4X4X4=(2X4)P3=8

B »x4= 2X2X2X2X4X4X4X4=(2x4)"=8"

O 2x5»=3xX3X5x5=(3x52=15

33><53= 3Xx3x3X5x5%x5=(3x5)*=15%

@ s xms=nXnXnXnXnXmxXmxmxmxm=(nXm)®=(nm)*

Write the base as a product of two factors. Use the exponent to expand the product. Then write
it as a product of two exponential expressions. The first one has been done for you.
SetB

102=Q2X57P=2X5X2X5=2 X5
109= (2X5P=2X5X2X5X2X5=2"%x5°

10t= 2X5/=2X5X2X5X2X5X2X5=2"x5*

O o= (2x37=2x3x2x3=22x3?

Beo=2%x3P=2Xx3Xx2Xx3%x2x3=2"x3

@ (mnp= MXnP=mXnXmXnXxmxXnXmxnxXmxXn=m®Xn®

Describe a pattern you see in one of the sets of problems above.

Answers will vary. Sample answer: Students may see in Set B that when there is more than one

factor inside the parentheses, each factor is raised to the power.

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.
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Scientific Notation—Skills Practice

Write the numbers in scientific notation.

B 4500 = 4.5 % 10°
57 = 5.7 X 10"

a 730 = 7.3 X 102

0.007 = 7.0 X 103

B 30025 = 3.0025 x 102
563252 =  563252x10°

Write the numbers in standard form.

765x10°= 7,650
758 x102=__ 7528
27345 x10'=__ 27.345
B srs2x10°= 875,200

80X 10’= 80,000,000
53725x10°=____ 53,725

@mey practice

FormA

0.0578 = 5.78 X 102
B 0.006256 = 6.256 X 103
B 0000042 = 42x10°5
B »s63= 2.563 x 10"
01456 = 1.456 X 10"
92143 = 9.2143 x 103
521 X107 = 0.521
2169 X 1074 = 0.0002169
46X 107 = 0.000046
50x103%=__ 0005
5639 X 1072 = 0.05639

0.0000013

13X 10°¢=

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

c Notation—Skills Practice

Write the numbers in scientific notation.

6,500 = 6.5 x 10°

69 = 6.9 X 10

B8 s0= 8.2 X 102

0.002 = 2.0%x 1073

B 40075 = 4.0075 x 102
76,213.8 = 7.62138 x 10*

Write the numbers in standard form.

872x10°=__ 8720
3628 X 102=__ 3628
1478 x100=_ 14278
6.251 X 10° = 625,100

90X 107= 90,000,000

4723 100=__ 41,723

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Form B
0.0354 = 3.54 X 1072
@ 0007257 = 7257 X107
B 0.000053 = 5.3 %1075
@ 3785-_ 3785x10
0.2531 = 2.531 x 10!
1,876.4 = 1.8764 X 10°
379x10=___ 0379
9786 X 1074 = 0.0009786
34% 105 = 0.000034
40x10°=___ 0004
6213 X 102 = 0.06213
46X 1075 = 0.0000046
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answers in standard form.

(42X 10 X (2 X 10?) = 84,000,000

@m,m practice

Scientific Notation—Skills Practice

(3.9 X 109 + (4.1 x 10) = 44,900,000

(321 X107+ (46X 10 =___14.766

(265 X 109 — (121 X 109 = 1,440

B 621 x10?%) - @32x 104 =_0.061668

@ 26x10).38x10%)=___ 988
4.62 x 10°
B 5550 = 2100

Perform operations with numbers written in scientific notation. Write your FormA

(2.8 X 10°) + (7 X 102 = _ 4,000,000

B (505X 1073 + (505 X 1072 = 0.1

B ©5x109+ 01 x10)=__ 45011

B 75%x107?) + 86 x10?) = __ 860.075

M ©6x10)+©94x109=__ 1800
(17 X107 + (259 x 107 = __ 0.1959
@ 425x109.35x10%) =__ 14875

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

ific Notation—Skills Practice

Perform operations with numbers written in scientific notation. Write your

answers in standard form.

(31 X 109 x (3 X 10%) = 93,000,000

(2.7 X 109 + (51 X 107) = 53,700,000

478 X107 X (21 x 10 = 10.038

(3.85X 109 — (141 X 10) = 2,440

B (531 %10 - (2.34x 104 =_0.052866

(46 %109 x 2.8x 10 =___ 1,288
1.725 X 10° _
B 550 230

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Form B

(6 109 + (4 x 107 = _9,000,000

B 639x107) +(3X107) =

B 84 x10% + (62X 10) =

B 635%X10)+ (79X 10%) =

M 72x109+ @87 %x10) =

(19X 107) + (3.69 X 10 =

@ .87 x10% x 43 x 107 =

Fiuency p@

213

58,462

790.035

1,590

0.2269

209.41
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a Solutions to Linear Equations— Solutions to Linear Equation E
Skills Practice Skills Practice a
A
Solve and tell whether the equation has 1 solution, no solution, or infinitely FormA Solve and tell whether the equation has 1 solution, no solution, or infinitely FormB :’.
many solutions. many solutions. 8
B 3x+8-5¢=21-8x B2y 7+55=13-2% B 3x—8+5x=17-3x B 4+6-2a=12—6a
no solution 1solution:y =4 1solution: x =5 no solution
B 2-8=-20-4z @O 7+2o=9+4f B 4-72=-2-32 Bo+t4g-6=-3+49+6
1solution:z=8 1 solution: f= —1 1solution:z=9 infinitely many solutions
Bo6+3m—4=-5+3m+7 Bdt6+2d=4d+9 Bs+3d=10+5d Bs5v-5=4w—14
infinitely many solutions 1 solution:d = -3 1 solution:d = —1 1 solution:w =1
B4p—-4=3p-3 B4+12=c-3 Bc+7+3=5+n Botep=-9-3p
1 solution: x =1 1solution:c= -5 1solution: c = —4 1 solution:p = -2
B7d-8=3d-8 M -9o-8=-10n-7 Bs5r+14=f-56 Wor-7=4n-7
1solution:d =0 1 solution:n =1 1 solution: f= -5 1solution:h=0
@o+8=-6+2b B7g+5-29=5+5g @o6z+3-32=3+32 B —9-10=-106-9
1 solution: b = —2 infinitely many solutions infinitely many solutions 1solution: b =1
@nuenzy Practice ©Curriculum Associates, LLC  Copying is permitted for classroom use. ©Curriculum Associates, LLC  Copying is permitted for classroom use. Fluency Practice. @
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Solutions to Linear Equations—

Skills Practice

Use the distributive property as needed to solve and tell whether the
equation has 1 solution, no solution, or infinitely many solutions.

6x— 12 =6(x — 2)
infinitely many solutions

—15% — 4+ 6x = —4 — 9
infinitely many solutions

4(p +5)=6p + 20
1 solution:p =0

15y — 4 =12y — 28
1 solution:y = —8

B jvatg=-2a+4

no solution

82y +5) =9y + 12
1 solution:y = —4

@m,m practice

4_ 3 ,-1,_4
85 Gm=%m-3

1solution:m =4

By-6=7+4
no solution

@ 3m+ 11 =Jom+33
infinitely many solutions

B s+:n+14=4n-16
1 solution:n =11

M 3m-4=6m-15
1 solution:m =1

2n+14=3n+5
1solution:n =9

FormA

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Solutions to Linear Equations—
Skills Practice

Use the distributive property as needed to solve and tell whether
the equation has 1 solution, no solution, or infinitely many solutions.

2_1,-1,-2
B3 m-gm3

1 solution:m =4

7p+4=9p+28
1 solution:p =0

4m + 11 = 1(32m + 88)

infinitely many solutions

—9+4n+18=7n—24
1 solution:n =11

Bs5m-3=mm-17
1 solution:m =1

74y +5) =19y + 8
1 solution:y = -3

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

IX—14=7x—-2)
infinitely many solutions

O 6x—8+9%x=-8-7x
infinitely many solutions

Bsy-7=8+56
no solution

B 4-6=1y-27
1solution:y = -7

@ Ja+20=-2a+5

no solution

Pl 9n—-8—-3n=6n—-8
1solution:n=0

Form B
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Systems of Equations—Skills Practice

By=4
2y + 2.5x = 105
x=10,y =40
EJ x = —6y
3x + 6y = —24
x=-12,y=2
By-x
—2x+y=15
x=3,y=21
Bx-1=3
1 —
§y+x—11
xX=6,y=10
ax:LSy
—8x—2y=—84
xX=9,y=6

@m,m practice

Solve systems of equations using substitution.

FormA

x+10=—8y
—8y+x=6
x=-2,y=-1

nxf9=7y

7y + x=-19
X=-5y=-2

Bx+5=-4
—4y +x=43

x=19,y=—6

By-1x
—6x + 3y =30
X=-6,y=-2

@ y=o05x

8y —6x = —20
x=10,y=5

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Systems of Equations—Skills Practice

Solve systems of equations using substitution.

B x=7 B =4
3x+2y=123 0.5y + 2x = 85
x=7y=1 x=40,y=10

B x-6=5 O =y
Sy +x=-24 5x + 3y = —48
x=-9,y=-3 x=-9,y=-1

1 1

[ 5 P Ax-8=¢
—7x + 5y =60 %y+x=10
x=-10,y=-2 xX=9,y=6

|7 BB Bx+7=-3
—2x+y=5 —3y+x=41
x=5y=15 x=17,y=-8

B8 y=15¢ Mx+7=8
10y — 3x = 96 8y+x=9
x=8y=12 x=1y=1

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Form B
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Solve systems of equations using any method.

B3x-4-=7
3x—4y=9
no solution

8=
4y + 3x =55
x=5y=10

14y — 7x = 21
xX—2y=-3

infinitely many solutions

7y +8x =15
3y+8x=11
x=1y=1

B sx—4=9
3x+8y=—5
x=1y=-1

mg.wy practice

Systems of Equations—Skills Practice

FormA
10x — 15y = 30

2x—4y =4
X=6,y=2

6x + 2y = 20

3x+2y=38
X=4,y=-2
B ox—6y=3
—Ix+4y=7
x=-3,y=-5
Bx-6y=4
—6y +7x =5
no solution
@ x+4a=6y
6y +x=38
x=2y=1

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Solve systems of equations using any method.

B 20x— 10y =50
10x — 15y = =5
x=4,y=3

8-

5y + 5x =40
xX=2,y=6

8x —4y=4
—8x+2y=6

xX=-=-2,y=-5

8x—4y=3
—4y +8x=9
no solution

B ox+4=8
5x+ 8y =16
x=0,y=2

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Systems of Equations—Skills Practice

2x —6y =8
2x —6y =3
no solution

@ 7x+4 =30
3x+4y=6
X=6,y=-3

B 5y -5x=20
x—3y=-4

infinitely many solutions

Boy+ex=15
2y +6x=28
x=1y=1

O x=-2
3y + 5x= —21
x=-6,y=3

Form B

Fiuency pmm@
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Systems of Equations—Skills Practice

@ x=o05y
6x + 2y =20
x=2,y=4
3 7.,

§x+ﬁy—20
2x—7y=-120
x=10,y=20

B x+y=2 (6]
2,1, -
El=aal
x=3,y=6
1 1, -

§X+z}’—2 8
x+2y=16

infinitely many solutions

B sx—5y=36
0.5x + 2.5y =3
x=6,y=0

@m,m practice

Solve systems of equations involving fractions and decimals.

2x+3y=5
0.25x + 0.25y = 0.5
x=1y=1

—8x—7y=3
4 3
5 10
no solution

Ty=
X+10y

_1
x=gy
36x — 2y =24
x=1y=6

2.5x + 5y = 50

1.25x + 1.5y = 21
x=12,y=4

FormA

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Systems of Equations—Skills Practice

Solve systems of equations involving fractions and decimals.

nx=70.5y
8x + 6y =12
x=-3,y=6
4x—7y=32
0.5x+3.5y=4
x=8,y=0

4 3,
EX+W—13

2x — 3y = —80
x=5,y=30
lx-%—1 =3
AT
2x+y=30

infinitely many solutions

B 6x-3y=5
3,.3,_5
¥
no solution

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

—6x+ 12y =14
15x =3y = —3.5

infinitely many solutions

O 2x+6y=8
0.25x + 0.25y = 0.5
x=1y=1

Q-
3x — 25y =20
x=-10,y=-2

B x+ty=12
Ty 1, = —
¥ T 2
x=0,y=12

@ 2x+5y=24
Ty 3=
F =Y 2
x=2,y=4

Form B

Fiuency pmm@
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Linear Functions—Skills Practice

Find the slope of the line through two given points.

(7,7)and (9,9) (8,11 and (5, 5)

slope=__ 1 slope=__ 2

B (2, -3)and (-1, -6) (-1, —4)and (3, 12)

slope=__ =3 slope = 4

(5,6)and (9, 8)
1
slope=__ 2 slope=__—5

B 2 —13)and (-4, -3)

(~8,17)and (-5, 19)

L d(3,
¢ m(44)an (45)
3

slope = slope=__ 2

(8,5)and (4, 7) g —2)and|(3, -4

slope=__ 3 slope=__—4

(3,8)and (4, 6) 4,9)and (7,9)

slope=__—2 slope=__ 0

(-2,3)and (4, —2) (1,1 and (-3,9)

_5 2
slope = 6 slope =

mnmq practice

FormA

(2,5)and (5, 8)

slope=__ 1

B ©0and6,5

5
slope = 6

B 59andG, 1)

slope=__—1

(6,3) and (6, 6)

-1
slope = 4
(0,4) and (10, 0)
2
slope = 5

B 3.0and (0,9

slope=__ 3

(~%%)and (2.2

slope=__—1

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Linear Functions—Skills Practice

Find the slope of the line through two given points.

(7,10)and (4, 4) (6,6) and (14, 14)

slope = 2 slope = 1

(=1, -10) and (4, 15)

slope = 5

B (-1ijand-22

slope=__—4 slope=__—1

(-2, —5)and (~4, —11) @ (-7.16)and (—4,18)

2
slope = 3 slope = 3

B (5 6)and(57) (1, and (-2,7)

slope=__ 2 slope=__—2

(0, —6) and (8, 0) (4,12)and (5, 10)
_3

slope = 4 slope=__ 2

(9,6) and (4, —9)
3

2,-Nand(72)
3
5

slope = slope =

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

(-3, —4)and (2, =7)

slope =

B 2 4and 4,6

slope =

B 2 7and 69

slope =

(9,6) and (-9,

slope =

(-2,00a

slope =

m 6,7)an

slope =

(6,8)and (9, 8)

slope =

Form B

-3
1

1
2

,9)
-1
6

nd (0, ~10)
_ -5

d(1,12)
_ -1

0
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Linear Functions—Skills Practice

given points.

Yamini starts a savings account with
$12. She will put in an equal amount each
week. After 6 weeks, she will have $54.
Rate of change per week =
Initial value = __ $12

@m,m practice

Determine the rate of change and the initial value of the line through two Form A

B G149 and 3,10) (9,32) and (4, 17) (8,5 and (4,7) 1
Rate of change = 2 Rate of change = 3 Rate of change = 2
Initial value = 4 Initial value = 5 Initial value = 9

B 4,8 and (12,10 1 (3,13)and (6, 14) 1 B 049and (7,9
Rate of change = 4 Rate of change = 3 Rate of change = 0
Initial value = 7 Initial value = 12 Initial value = 4

(1,6)and (6, 1) B 3.9and(12,2) 2 B 4 1nand @2 1
Rate of change = —1 Rate of change = 3 Rate of change = 4
Initial value = 7 Initial value = 10 Initial value = 0

M (,3)and 3,9 (2,8) and (4, 8) (5,12) and (2, 6)

Rate of change = ___ 3 Rate of change=__ 0 Rate of change = __ 2
Initial value = [ Initial value = 8 Initial value = 2

Give the rate of change and the initial value from each description.

Jordan has some music books. He will
buy 9 new music books each year.
He will have 52 music books in 5 years.
Rate of change per year = 9
Initial value = 7

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Linear Functions—Skills Practice

Determine the rate of change and the initial value of the line through two Form B

given points.

(1,4)and (3,12) (5,18)and (2,9) (5, 1) and (10, 2) 1
Rate of change = 4 Rate of change = 3 Rate of change = 5
Initial value = o Initial value = 3 Initial value = o

B ©0,5and 8,5 (1,6) and (6, 16) B 8 30and (521
Rate of change = __ 0 Rate of change = 2 Rate of change = 3
Initial value = 5 Initial value = 4 Initial value = 6

(1,3)and 3, 1) B 4 7and (12,9 1 B 3 1mand (5 1)

Rate of change = __ —1 Rate of change = 4 Rate of change = o
Initial value = 4 Initial value = 6 Initial value = 11
(8,4)and (4, 6) B @ 6 16)and (9,17) 1 (6,8) and (15,2) 2
Rate of change = 2 Rate of change = 3 Rate of change = 3

Initial value = 8 Initial value = ___ 14 Initial value = ___ 12

Give the rate of change and the initial value from each description.

Kahn starts a savings account with
$14. He will put in an equal amount each
week. After 7 weeks, he will have $56.
Rate of change per week = __$6
Initial value = _ $14

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

@ Addison has some puzzle books. She
will buy 7 new puzzle of books each year.
She will have 43 puzzle books in 5 years.
Rate of change per year = 7
Initial value = ___ 8
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Linear Functions—Skills Practice

Identify another point on the line given one point and the slope.

One possible answer is given.
n (—4, 0) and slope = —2
(=3,-2)

B (-3, -2 andslope =5
(=2,3)

(=1, —1) and slope = —%

(1,-2)

m (0, —2) and slope = —5
(1,-7)

(2, —3) and slope = 0
(3,-3)

B (2,7) and slope = 1
(3,8)

(=2, 1) and slope = %
4,2)

(2,4) and slope = —1
(3,3)

Fluency Practice

(=5,2) and slope = —1
(—4,1)

(5,6) and slope = 1
6,7)

B (.1 and slope = —4
(2,-3)

(1, 2) and slope = 7%
4,1)

(4,4) and slope = —3
(5,1)

(3, —3) and slope = —6
(4,-9)

(4,2) and slope = —2
(5,0)

(1, =1) and slope = 3
(2,2)

FormA

(4,5) and slope = 0
(5,5)

B 0,0 and slope =3
(1,3)

B 2 2andslope =
2,-1

(3, —6) and slope = 4
(4,-2)

(3,5) and slope = —3
(8,2)

B 2 2 and slope =2
(3,4)

#i) (0, 0) and slope = 2
1] pe =32
(3,2)

(=1, 1) and slope = 8
(0,9)

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Linear Functions—Skills Practice

Identify another point on the line given one point and the slope.
One possible answer is given.
n (6,7) and slope = 0 (—4, —5) and slope = 5
(7,7) (=3,0)

B (6,0 and slope = —2 (3,11) and slope = 1
(=5,-2) (4,12)

(-1, —1) and slope = —% B (1,2 and slope = —%
(4,-4) 3,1

m (4, —8) and slope = 3 (4, —9) and slope = 0
(5, —5) (5,-9)

(5,5) and slope = —2 m (5, —5) and slope = —6
(6,3) (6,—11)

@B (-2, 3)and slope = % (3,4) and slope = —4
(1,5) 4,0)

(1, 1) and slope = —3 (0, 0) and slope = 4
(2,-2) (1,4)

(8,8) and slope = 8 (1, =1) and slope = —1
(9, 16) (2,-2)

©Curriculum Associates, LLC ~ Copying is permitted for classroom use.

Form B

(—4, 3) and slope = —1
(=3,2)

B (©,0) and slope = %
(4,1)

B 0 -3 andslope = —5
(1,-8)

(=3,3)and slope = —1
©2

15 (8,9) and slope =1
1] p
(9,10)

(-3, 1) and slope =
(3,2)

1
6

(=1, 1) and slope = 2
(0,3)

(6,2) and slope = 3
(7,5)
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